PROFESSIONAL EXAMINATION BOARD

Group-3 Technical Selection Test 2016
3rd April 2016, 02:00 PM

Topic:- G3_General Hindi
1)

Question Stimulus :-
Hindi
‘Sruraeil’ e o1 WY fa=de grm
o dHuT + Teil
e T + 3ch
o U + 3t
o ST + 3qcht
Correct Answer :-&17 + 3[ddt
2)
Question Stimulus :-
Hindi

UA: + faamg o <fdr gifl-

Correct Answer :-JAfdag

3)
Question Stimulus :-

Hindi



frafafea & 4 o1 91 = = 3-

Correct Answer :-THIH
4)
Question Stimulus :-
Hindi
"’ Meg BT faeld ghm-

- fawqa

CE)

* °Y

o faurmer
Correct Answer :-¢1g
5)
Question Stimulus :-
Hindi
ﬁaﬁﬁr@am%anﬁawwmwﬁl T4 @ S gurd® vafa gas Rgfa o8-

o 3T qTEl
o dfar gam

e 3H



o R
Correct Answer :-dtdT g3l
6)
Question Stimulus :-
Hindi
3T Y F RIT TP Weg BT T4 i~ A & Wed $T ”H

. TRy

Correct Answer :-3HA

7)
Question Stimulus :-
Hindi

fre 2req & i serdl wreg €; St wog 39 Aol # € ard € I giT- AR

Correct Answer :-dig®

8)
Question Stimulus :-

Hindi



T ve v far man 81 fou e fawed # ¥ wafgard v gfe-
3T

o UTd: hld

Correct Answer :-'\‘I!f

9)
Question Stimulus :-
Hindi

frafaf@d § o149 St WRd 3 272

Correct Answer :-'{R‘-‘d
10)
Question Stimulus :-
Hindi
Y e BT YA Wl o-
o MUY
o IAPpd
o urfer



« TTH & PIg 61
Correct Answer :-3%pd

11)
Question Stimulus :-
Hindi

seHfd & A fAfde Fifoe-

¢ PUYRY
Correct Answer :-TJ&Y
12)
Question Stimulus :-
Hindi
fafafaa gera¥ 1 96 e gA- TER &1 Bd g n
o FufRrd g
« Bd Bl W fae
o GAY BT
o 3ifr g BT
Correct Answer :-gd¥ g
13)

Question Stimulus :-

Hindi



fFrafafaa & g= 9 &1 997 Fifom-
o T@I BT 1Y
e TRW Pl BT AT
« W H HTAT A119Y
o TG AT AT
Correct Answer :-T@T AT AR
14)
Question Stimulus :-
Hindi
& R v g:@ 9 gedll’ 59 B/ FafEt Y == 8-
» FUHPHART dIET
« HgIedl aHt
o WRTETE
« T A BIS el
Correct Answer :-HgTqdl qHf
15)
Question Stimulus :-
Hindi
“GEITad’ WETHhTd &1 Xa-T fores & g2
o e
o fazmmufa
o Hfd® Yewig St

* PdIT



Correct Answer :-Hftie gwG STl

Topic:- G3_General English
1)

Question Stimulus :-
English
What does this idiom mean?

‘Piece of cake’

Something very easy

Something soft

Something sweet

Something very pretty

Correct Answer :-Something very easy
2)

Question Stimulus :-

English

Complete the idiom:

He will help his brother. Blood is thicker than
e relations
o friendship
e ego
e water
Correct Answer :-water
3)
Question Stimulus :-

English




What does this idiom mean?
‘Cry wolf’
e Shout in anger
e Tease someone
 Raise false alarm
 Attack someone
Correct Answer :-Raise false alarm
4)
Question Stimulus :-
English
Fill in the blank.

The police a thief this morning.

e arrests

e arrested

 have arrested

e arrest
Correct Answer :-arrested
5)
Question Stimulus :-
English
Fill in the blank.

He my car when this happened.

* repairs

e was repairing



* repair
 has repaired
Correct Answer :-was repairing
6)
Question Stimulus :-
English
Identify the given sentence.

He couldn’t complete his work because the bank was closed.

Complex

Compound

Simple

Exclamatory

Correct Answer :-Complex
7)

Question Stimulus :-
English

Identify the given sentence.

Wow! What a beautiful picture!
e Simple
e Exclamatory
e Interrogative
e Declarative
Correct Answer :-Exclamatory

8)



Question Stimulus :-
English
Find the odd word out.

New, ancient, novel, fresh
e New
e Ancient
e Novel
* Fresh
Correct Answer :-Ancient
9)
Question Stimulus :-
English
Find the odd word out.

Tiny, minute, little, massive
e Tiny
e Minute
e Little
e Massive
Correct Answer :-Massive
10)
Question Stimulus :-
English
What is the synonym of: torture

e Agony



e Soothe
e Ease
e Comfort
Correct Answer :-Agony
11)
Question Stimulus :-
English
What is the antonym of: praise
e Approval
e Cheers
e Compliment
e Abuse
Correct Answer :-Abuse
12)
Question Stimulus :-
English
Which of the below given words is spelt correctly?
e Harass
e Haarass
e Harrass
e Haras
Correct Answer :-Harass
13)

Question Stimulus :-



English
What is the synonym of: merit
e Worth
e Value
e Flaw
 Excellence
Correct Answer :-Excellence
14)
Question Stimulus :-
English
The antonym of the word ‘CONTENT’ is:
* happy
e matter
 enclosure
o dissatisfied

Correct Answer :-dissatisfied

Topic:- G3_General Science
1)

Question Stimulus :-
General Science

White Revolution could not have been possible without the revolutionary
contribution made by which of the following personalities? / fafafead 9

®F 4 aAfdid & gRT U gU HifdeR! avteM & 991 99 wifd Tya =81 8 urdi?
» Alexander Graham Bell / e@aﬁmﬁwﬁm
 Nicolaus Copernicus / F@Idd srRA®Y



 Louis Pasteur / Fﬁﬂaﬁ'\’

e Aryabhata / Gn'tf‘l-lg
Correct Answer :-Louis Pasteur / dgd LEIE
2)
Question Stimulus :-

General Science

Who is the Minister of State (Independent) for New & Rengwable Energy,
Government of India? / HRd WFR & T4 3R TdH0g ot & Isa w:H
(9dT) P 82

e Mr. Piyush Goyal / aﬁﬁqwﬁw
e Ms. Maneka Gandhi / gt #&T ich

e Ms. Uma Bharti / gt AT YRl
« Mr. Rajiv Pratap Rudy / & IeHg ydig &8t
Correct Answer :-Mr. Piyush Goyal / &t fogw maa

3)
Question Stimulus :-
General Science

Which among the fol-lowing is not a flightless bird? / FafafRRad I s
TP Igu4-31&H el gt 82

e Emu/ d§
e Kiwi / 3l
 Sooty Tern / gl e
« Kakapo / PHIHTUI
Correct Answer :-Sooty Tern / g‘é’f o

4)



Question Stimulus :-
General Science

Ozone Layer is present in which of the following spheres? / Frafafaa ds«t
# A 59 d yoIR® (Si) WRd IufRd 8?2

« Ionosphere / 3O HSd
« Stratosphere / 9UdIU H&d
« Troposphere / &Y Hsd
e Mesosphere / ¥ Hsd
Correct Answer :-Stratosphere / IHdIU HSd

5)
Question Stimulus :-
General Science

Which among the following is NOT an external storage device? / Frafafaa
# q P9 AT TP 918l HUSRYT 47 81 82

. CD / HiSt
« DVD / SISt
« Magnetic Tape / TH®1 TgI (Aife® 2)
e Monitor / Aifex
Correct Answer :-Monitor / Hifex
6)
Question Stimulus :-

General Science

Maximum .amount of Fresh Water is used in: / 3ddul Sid & Jaife AET B1
SUUNT 39 A gidT 2



Agriculture / FiU®R
Drinking / AT

Pisciculture / HUTdH

Cooking / WMl UBTAT
Correct Answer :-Agriculture / FR®™

7)
Question Stimulus :-
General Science

The minimum acceleration with which a fireman can slide down a rope of

breaking strength 2 /3" of his weight shall be: / o “gAdH 0T UR Uh

%arﬁmnwmm ITd ARG YR & /3 fdue ermar god 79 @ fhaae? - om godr
, de :

«e0/0

* 39/ 39

*g/3/9/3

°g
Correct Answer :-g/3 / g /3
8)
Question Stimulus :-

General Science

What process is being depicted in the figure below? / 3ren gfvfa for & w19 <t
wfesar fRIfSa & o 36 82



g, iy
e
?ﬁﬂ’_}--..“_ﬂ ;
7. X1 =
=l
== il

e Brewing / fvaraa
e Distillation / 3THd4
e Evaporation / arefieor
e Condensation / H94
Correct Answer :-Distillation / 3THdq

9)
Question Stimulus :-

General Science

The unit of pole strength is / ﬂ?ﬂ'{[ &HdT ?ﬂ?ﬂﬂﬁ g
e amp -metre 2 / T-Hie®
® amp - metre / Q’Fq-lﬂ?\’
* amp/metre / T/Hier
e amp/ metre 2/ T /HieR®
Correct Answer :-amp - metre / TH-Hiew

10)



Question Stimulus :-
General Science

Which among the following is an evidence to show that there must be a
force acting on Earth and directed towards the Sun? / frafafaad a Cack:||

gg o1 ¥ fore ue wwmor 3 for fAfda € ver 9@ 8 S gt wR fobar ovar @ vd g & eiR
fafde (faw) 2

 Deviation of the falling bodies towards East / ud-ene fust &1 Tq:
&1 3R fage= (gopra)

e Revolution of the Earth around the Sun / G4 & TR} 3R 7t Bt
LIRE)

« Phenomenon of day and night / f&5 €g 31 &1 g1

 Apparent motion of Sun around the Earth / Gl & aRT 3R G4
&1 MU e

Correct Answer :-Revolution of the Earth around the Sun / 1‘]:&37 IR 3R
gt ot ufvepar

11)
Question Stimulus :-
General Science

Phenol gives characteristic colouration with: / g9 & 91y fieTa TiRE® 3oH

(FE) ST &
Bromine Water / Sif¥F oial

Ammonium Hydroxide / 3HIaH gESIRNTSS
Aqueous Ferric Chloride Solution / Sidg BR® T@RSS faaaa

® Iodine Solution / TS faeg=

Correct Answer :-Aqueous Ferric Chloride Solution / el BRe a%ﬁm
faaa=

12)



Question Stimulus :-
General Science

Glucose on reaction with Br, water gives: / Br & 91Y Ufafshar &7 W= 0

(TI@IS) Sl &
e Glucaric acid / ®IR® 3

e Gluconic acid / ﬁﬂ"ﬂﬁﬁ ST

e Saccharic acid / GaPIND 3
e Citric acid / dTsfe® o

Correct Answer :-Gluconic acid / T®IN® 3

13)
Question Stimulus :-
General Science

Haemoglobin of the human blood forms a stable complex compound. With
which of the following gas given below does it lead to human death? /

A4 Yo BT SR-afe1 (Saeifad) e fRR sfed aiftre o= 2| Fufaf@a 7 9
®IF A A & 1Y 98 A9 Y BT HRUI 9d1 82

* Nitrogen / ATIgcIo

e Carbon dioxide / a»‘lﬁqa's'aﬁwsts'

« Carbon Monoxide / e HIFI3GAES

e Oxygen / 3o
Correct Answer :-Carbon Monoxide / CaCL] ﬁm
14)
Question Stimulus :-

General Science

Which of the following reacts with Glass? / FRUfiRaa & ¥ 19 $ig & 91y
ufafsrar &=t 82



Sulfuric Acid / SRR 3%

Nitric Acid / AT8fe® o

Hydrofluoric Acid / G@ﬁaﬁﬁﬂ? ST
Potassium Dichromate / TIeRRRH SEHh AT

Correct Answer :-Hydrofluoric Acid / SESIFNNT 3d

Topic:- G3_General Knowledge
1)

Question Stimulus :-
General Knowledge

Name the new train service, announced in Rail Budget 2016, .which
includes Double Decker Air-conditioned train. / I 9ol '\’?2& H ifva 39
IS BT ATH JdTC o ST SHR (Gl HivTelt) FrargHierd Yams! § Wi 8

e Antyodaya / 3idicy
e Tejas / GE
e Humsafar / gHIWR
e UDAY / 3ad

Correct Answer :-UDAY / 3¢9

2)
Question Stimulus :-
General Knowledge

When did the Madhya Pradesh state come into existence? / HY UG I5g
o9 &I o 3T UT?

e 15t November 1956 / HdR 2’45

e 11th November 1956 / 23dRR R4E

e 15t December 1956 / 2 fdamR /45



e 11th pecember 1956 / 22 feTwR _4s

Correct Answer :-15t November 1956 / HdWR ]4&

3)
Question Stimulus :-
General Knowledge

What is the national rank of Madhya Pradesh by its area? / Y] USRI 31U
ATFA & YR W o gty 9oft 9 32

o 15t / 2%
« 2"/
e 34/ R
« 4th/yg
Correct Answer :-2"d / 3%

1)
Question Stimulus :-
General Knowledge

What is the name of the mobile app launched by Madhya Pradesh state
government for teachers/ / .9 I IRPR gRT el & e 3= #1 g3

HiaTge UGN BT ATH =T 82
« E-Shiksha-Mitra / 3-fRran-ff=
e Shiksha-Mitra-app / ﬁT&-IT-ﬁHQ‘q
« M-Shiksha —-Mitra / TH-fRr&-fim
 Apps-for-teacher / Ri&® & forw srguaimi
Correct Answer :-M-Shiksha —-Mitra / TH-fRran-ffm

5)



Question Stimulus :-
General Knowledge

Where will the world’s largest 750MW solar power station come into
existence? / AT &1 HaA TST bYoTH S AR IoIt WM (RITH Hal 82

e Neemuch / iy«
e Satna / HdHT

e Jhansi / 311'\‘=ﬁ

e Rewa / 3@l
Correct Answer :-Rewa / 34T
6)
Question Stimulus :-

General Knowledge

Which one of the medicinal system does not come under "AYUSH", a
government body in India? / 3iiutig goumelt & & 9 URT PR & fAerT “smgu”
& 3faia g 3TaT 32

« Allopath / Teudt

« Homoeopathy / giftradt
e Yoga / TNT

e Unani / A1

Correct Answer :-Allopath / wﬁﬁzﬁ

7)
Question Stimulus :-
General Knowledge

Where is the "Omkareshwarlyotirlinga” situated in India? / “IPRYR
SOifafeT” URd o Hgl (AT 82



Khandwa / dsdl
Ujjain / S%iF
Pune / Hﬁ’r

Grishneshwar / ‘J[ﬁ%?

Correct Answer :-Khandwa / dsdl

8)
Question Stimulus :-

General Knowledge
Name the state which was separated from Madhya Pradesh on 1St

November, 2000. / 39 I BT ATH TdT¢ Sl ALY U A ¢ AR, 3000 B AT gl
T T

e Uttarakhand / 3TRTEUS
 Chattisgarh / SX9TE
e Jharkhand / 9RWUS
e Telangana / CRIGH
Correct Answer :-Chattisgarh / E?ﬁw
9)
Question Stimulus :-

General Knowledge

Which among the following is NOT a fat soluble vitamin? / FHifea d @ Cac|

a1 e arar # gorehia 78 82
e Vitamin A / faerf= A
. VitaminC/ﬁE‘IﬁHC
e Vitamin E / fAef= E



e Vitamin D / fderff= D
Correct Answer :-Vitamin C / faeifi| ¢

10)
Question Stimulus :-
General Knowledge

Where is the 'Tansen Music Festival” organized in Madhya Pradesh? / HY9

TN H gl W “AFG Hilid Icva” maifora fowan e 82
e Maihar / A&
e Gwalior / TaIfeER
e Khajuraho / GRTgl
e Chitrakoot / fo=ge

Correct Answer :-Gwalior / TIferaR

11)
Question Stimulus :-
General Knowledge

Name the first Indian sound film made by ArdeshirIrani in 1931. / ERR
HET gRT 2’32 # e yyw YRl Jare gafas &1 99 Farg

 Raja Harishchandra / Il s e=
e AlamAra / S3ITdH 3RT
 KisanKanya / ﬁﬂ(ﬁﬁtﬂ
« Pundalik / Ysfea®

Correct Answer :-AlamAra / S3ITdH 3RT

12)

Question Stimulus :-



General Knowledge

Where is the '‘Eden Garden cricket stadium’ located in India? / s‘:=r=r Mme
forpe wfean” WRa # wel T 82

New Delhi / =5 feei
Kolkata / ®IdPIdl

Cuttack / &ch

Bangalore / AR

Correct Answer :-Kolkata / CAGCAGI
13)

Question Stimulus :-

General Knowledge

What ‘Gurudakshina’ did Dronacharya ask from Ekalavya? / HUIEICE]
THAHA A “SSISUT” § T N UT?

Right index finger / crfe=h afeih SHeht
Right thumb / IfgAT 3[BT

Left thumb / ST 3BT

Left index finger / ST afSiH Srelt

Correct Answer :-Right thumb / gIfeT ST

14)
Question Stimulus :-

General Knowledge

When is the World Wildlife Day observed? / fa¥ a=usiia feaq o« w=mar sirar

a2
e 1St March / 9



e 2"d March / ? A
e 3" March / 3 9K

e 4th March / ¥ A
Correct Answer :-3"9 March / 3 9

15)
Question Stimulus :-
General Knowledge
Name the institution being set up by the Government of In\glia, to provide
funding to the non-corporate small business sector. / R ﬂ”ﬂﬁﬁ? oY gadr™g
AT H Y SUAR HIH & T YR IRER §RT TS IRIT BT 719 Fd1U.

e MUDRA Yojna / &I il

« Jan-dhanYojna / SH-Y gISAT

« HRIDAY Yojna / &<cd TioHI.

 Jeevanlyoti Bema Yojna. / Sia+ Sgifd ST Tl

Correct Answer :-MUDRA Yojna / H&I TieHT

Topic:- G3_General Computer Knowledge
1)

Question Stimulus :-
Computer

In a program computer, instructions are performed in: / me
#, fAd=n &1yt o forar wiTan @:

« Sequential manner / $HISG (ATHHD) TU
« Random manner / e[ (HATIT) FU
e Parallel manner / SHIdRTA U

e Consecutive manner / HNATd U



Correct Answer :-Sequential manner / $hHd% (Glﬂﬂo‘ﬁﬁ?) =g

2)
Question Stimulus :-
Computer

Computer virus has the ability to: / U fAuTY] (FEgex a5) | G HHA B
&HdT ﬁ?ﬁ %:

e Bifurcate itself / T4 & fgurfaysd &=
e Clone itself / Y &T fa==00r ST
e Terminate itself / TG &I AT BT
e Hide itself / Y & T 3G
Correct Answer :-Clone itself / ¥4 &1 Ufd=q0T ST

3)
Question Stimulus :-
Computer

Semi conductor memory is: / 3itTa® JfA 8:

Volatile / 319! (3gardl)
Non Volatile / 38R

Both of the above / SWRIFd IHT
None of the above / SWRIad A | HIg T8l
Correct Answer :-Volatile / Rl (Sganrdh)

1)
Question Stimulus :-

Computer

In a kilobyte “K" is referred as: / T®h Wﬁin?{d 'l?f, “K” ] ?H?CITf%:



2000 bytes / Y000 dIgc

1000 bytes / 2000 dIgC

1024 bytes / 0% dIgC

1020 bytes / 200 dIgcC

Correct Answer :-1000 bytes / 2000 dIgC
5)

Question Stimulus :-

Computer

PASCAL language is created by: / PASCAL HIUT ?Fla? GIRT d-1dT1 4T
« Niklaus Wirth / @ a4
e John Mark / CIGK:ICZ

e Dennis M. Ritchie / ?‘:ﬁﬂ@. =it
e Aho / 3@l

Correct Answer :-Niklaus Wirth / fAearg af

6)
Question Stimulus :-
Computer

Decimal number 80 can be represented in BCD code as: / GXHdd USIT (o
@ ISt (BCD) $e # 39 UHR SRITAT S & 8¢

e 0100 0101 / oRo0 o0%
e 1100 0011 /2300 0022

e 1000 0000 / %000 0000

e 1111 1111 / 2% R



Correct Answer :-1000 0000 / 2000 o000

7)
Question Stimulus :-
Computer

Which device can be used for digital to analog signals? / B (%ﬁrl??l) g
Y (TAENT) Wdbdl & I S | T HT IUANT fohar 51 g1 82

Modem / disd

De modem / 31 #HISY
Modulator / 3iffig® (Aisgaer)
Packet / qRigr (Y&¢)

Correct Answer :-Modem / HSH

8)
Question Stimulus :-
Computer

I-!alf Duplex represents information travel in: / 3ref fgwar quifar @ f JIAT 3'\=n?r
Taid gt 8:

Both ways at once / 34U a2 # t® & g ®

Both ways but not at once / 34d 33 ¥ Wig T& g 999 H 78!

Both of the above / SWRITd IHY
None of the above / SWRIad A ¥ $Ig g1

Correct Answer :-Both ways but not at once / 34d fa=m & W v& & 99 &

T8l

9)

Question Stimulus :-

Computer



In E-mail which of the following protocol is used for messages? / ag'qﬁiﬁ
1% (3-99) #, fFufafad & 9 #1991 $aER de3 & e Jagd gidl @

« IPC / 3TSURTt (IPC)

e SMTP / TITHEW (SMTP)
« FTP / TWEIT (FTP)

« HTTP / TEICIdT (HTTP)

Correct Answer :-SMTP / TITHEU (SMTP)

10)
Question Stimulus :-
Computer

TCP/IP protocol has been developed by which company? / =it/ st
(TCP/IP) HHRR $I9 ¥ ufag™ grT faefya farar mar?

BELL / 9 (BELL)

DARPA / 34 (DARPA)

AT&T / Td&dt (AT&T)

Hayes / GTaﬂ

Correct Answer :-DARPA / 0 (DARPA)

11)
Question Stimulus :-
Computer

Which of the following is a relational operator? / fFufefaad # & =1 &
HIYIRP PR 8?

e </ <
« +/ +

o« ++ / ++



«///

Correct Answer :-< / <

12)
Question Stimulus :-
Computer

Elen%ents of an array is accessed by: / ot aroft (7H) & dadl dP IURTH sﬂa?
GRI 5

« Index number / 3IIHHIOIGT HEAT

« Parenthesis / BIFP

» +operator / + PRSP

« Dot member operator / fig Jg& (ST AWR) AFR®
Correct Answer :-Index number / 3HHIUGT &

13)
Question Stimulus :-
Computer
Which of the following function can be used for single character input from
keyboard? / FafafEd & @ &9 9 forar &1 IUATT Holtued (Fa1S) I THd 3M&R
(Ta) wfaf® &g far < 9w 82

e Getch / 4

o Getchar / =R

o Getche / T

e None of the above / B‘@Tﬁﬁ"\ﬁ&ﬁgqﬁ

Correct Answer :-Getchar / =R

14)

Question Stimulus :-



Cache memory is: / gfa®T (&) Hfd &:

« Fastest RAM / §dd® ¥4 (RAM)

« RAM / 39 (RAM)

e Virtual memory / Gn‘l-ﬂﬁ'\“{ﬁf

« Hard disk / 3% afpaT (318 f$5P)
Correct Answer :-Fastest RAM / §adHd 30 (RAM)

Topic:- G3_General Reasoning
1)

Question Stimulus :-
Reasoning

Statements 1, 2 and 3 given below are followed by conclusions I, II, III
and IV. From the options given below, find out the conclusions which are
automatically derived from the statements. / CiE] ﬁ'E MT HYd R 3R 3 P
frspd 1, 11, 111 3R IV 3| - fou 7 fawedi o & ag frepd fAere o @yt @ @

3G ©.
Statement: / ®YH:

1. No blanket is sheet / ﬁ'{'qﬁ Wqﬁ%
2. Some boxes are sheets / W%@tﬁ%
3. All cars are boxes / qﬁw%@%

Conclusions: / f=py:

I. No car is blanket / ¥R dIeY gl &
II. Some cars are sheets / $© ®R e 3
III. No sheet is car / 9Te? 9 g1 ¢
IV. Some blankets are boxes / $9 e fe= 8
 Only III follows / f% 3 & A1y
« Only I follows / R ¢ & T1Y
e Either I or III follows / G dl 24T 3 & HIY

« None of these follows / 37H d f&dt & 914 w1



Correct Answer :-None of these follows / 8 ¥ &t & 1Y T8}

2)
Question Stimulus :-
Reasoning

Ajay is Bhanu's uncle. Chandni is Bhanu's wife and their son’s name is
Dhawal who has a sister named Esha. How is Ajay related to Esha? / 3/Gg

YT BT AT 3| Fig-t U] B el 8 3R ISP d¢ BT A7 Udd ¢ foras! g8+ &1 19 w=n
| df 3o 3R TR H T HE Y §?
e Uncle / |
e Father / fUar
e Grand Uncle / ilﬁﬁ'a'IET
e Grand Father / qlal
Correct Answer :-Grand Uncle / TR GI&l
3)
Question Stimulus :-
Reasoning

Find the angle between minute and the hour hands when the clock strikes
g:zs? / T8 P e Yo 3R et Yorait & die &1 BT 19 B oF gSl & 3:34 FoId
.2

47.5 degrees / ¥V.4 &

55 degrees / 44 f&i
60 degrees / §o &t

40 degrees / ¥o f&h
Correct Answer :-47.5 degrees / ¥o.4 f&h

4)

Question Stimulus :-



Reasoning

Sanjai was standing in front of a pole on a very fine morning after sunrise
and pole’s shadow was to his exact right. Based upon this information,
which direction was Sanjai facing? / Hod JAi¢d & d1¢ TP @ & I TSI 4T
MR TR B ROTE IS A US 8! A 39 SHSING] & YR R, o foog fezm
ST Y1?

e North / 3™}

e South / gf&mor

e East / Rd
. West/t@l'q

Correct Answer :-South / gf&or

5)
Question Stimulus :-
Reasoning

What can be the maximum number of years after which another leap year

takes place? / 3ifY® qu(ehiu avf) @t siftrrday sr@af feaa aut &1 i<l 82
e 4years /¥ Ty
e 2years /R CL
e 8years / ¢ a4
e 1vyear/ o ¥
Correct Answer :-8 years / ¢ a4
6)
Question Stimulus :-

Reasoning

In a certain code, MADRAS is written as NBESBT. How would BOMBAY be
coded in such coding system? / fddl ddaradt § ST (MADRAS) &t
TAdISUHSIS(NBESBT) for@ar Srar 8. It Hadrgelt § SWd(BOMBAY ) &) 3 fadd?



CPNCBz ; dfiziidieie
NBPTBV / TAdUIdIEidl
ESBNBP / STISITAU

BPNCNY / difie_ftears
Correct Answer :-CPNCBZ ;/ difigfidivie

7)

Question Stimulus :-
Reasoning

What will be the day on 8::December 2006 if the day on 8« December 2007
was Saturday? / ¢ f3IrR 00¢ P P T IR BN 3R ¢ fTraR 00 H AFGR
Yr?

Saturday / YR

Friday / Y[PdR
Monday / THaR

Tuesday / HIddR

Correct Answer :-Friday / Y[PdR

8)
Question Stimulus :-
Reasoning

Statements 1 and 2 given below are followed by conclusions I and II.
From the options given below, find out the conclusions which can be
automatically derived from the statements / $Y 3R 3 & 1€ A fAwpd &

3R @ few 7 €. < fou v fawedt | 3 fAswul &) g &t Syl | Aera 1 €.

Statement / ®Yq

1. All dogs are monkey / ﬂﬁﬁw%



2.No monkey is a cat / H*ﬂ'{' ‘l-ﬁwﬁc_vﬁ?é’f%
Conclusion / frepd
1.No dog is cat / (F)&Is foeeht 7EY 2.
2.No cat is a dog / (T)®I5 faceh F=1 781 3.

« Only conclusion I follows / A vy &

e Only conclusion II follows / HIAT frpd @

« Either I or II follows / isd & a1 @

« Both I and II follows / &l sy & wd @
Correct Answer :-Both I and II follows / @i fspd & td @
9)

Question Stimulus :-
Reasoning

How many N’s are there in the following series, which are neither followed
by M nor preceded by R?

MNRRMNSTNMRRMNQLNMRMNQPLNMRMNR / fifea s@ar # fad 'N’ 8
for % arg A A1 a9 M ® 3R T8l 39 USA R .

8/ ¢

3/%3
1/%
2/R

Correct Answer :-8 / ¢

10)
Question Stimulus :-
Reasoning

Find the missing number of the following series:



512, 256, 128, ?, 32, 16, 8 / Hifda g@er I arudar T & J1d I
KR, K&, W, ?, R, 2, ¢

e 52 /W

e 61 / &2

« 64/ %%

* 56 / 4&

Correct Answer :-64 / &%

11)
Question Stimulus :-
Reasoning

Choose the group of letters from following options that would take place
of the question mark (?) in the alphabet series given below:

BD CEF DFGH ? / iH fau 7t auf % & forw 391 quif & 9qg &1 g4 <t uyaa®
e &1 ®IH T80 HR I@dl 3.

BD CEF DFGH ?

e EGHIJ / EGHIJ sfoigasmss

« EGHI / EGHI sfoggams

e EFGHI / EFGHI SUGINUASTS

e EGHIJK / EGHIJK sfoggamssie
Correct Answer :-EGHIJ / EGHIJ gforggamgs

12)
Question Stimulus :-
Reasoning

During a sin%: day, how many times do the hands of a c!ock overlap each

other? / T& 7 ¥ w3l ot gsal fha-t IR WER-3ifdaara gidt 82



20 / Ro

22 / R
24 / ¥

21 /

Correct Answer :-22 / R

13)
Question Stimulus :-
Reasoning

AxB means A is the sister of B, A/B means A is the daughter of B, A-B
means A is the son of B. On the basis of this information you have to tell,
how is P related to S in the relationship P-QXR/S? / AxB &I Hddd % A B &t
9878, A/BHT I 8 A B B 31 8, A-B T Hd@d & A B HT deT 3. 57 a1 &
YR R ATIH! 9411 & fF P &1 S ¥ FT Y&y § ©I6l-: P-QXR/S?

e Brother / 'l-l'l'sf

e Son / qel

« Grandson / Tidl

« Daughter’'s Son / q¢l &7 9T

Correct Answer :-Daughter’s Son / o) &7 deT

14)
Question Stimulus :-
Reasoning

A dice with different sides labeled as A, B, C, D, E and F respectively has

been rolled thrice. All three positions are shown in the images (i), (ii) and

(iii) below. Which of the following would be I\gﬁlj\rg o_\sposite A on the dice?
F

/ T U foraes fafir ual &t A% A, B, C, D, E fafa fovar mar g, ot d=
IR g9 et §. 9t i Rufoar e i e e g, 2 sk 3 A quifu o &, Fwifpa & &
S AT U TR TR A & faudia fozm & smam.



«C/C
«eD/D
« E/E
«F/F

Topic:- G3_General Maths
1)

Question Stimulus :-

Maths

Ms. Ankita invested Rs. X with a bank paying 10.5% simple interest per
annum for 4.67 years and Rs. X grows to Rs. 3576 during this period. In
how many years Rs. X would have become Rs. 2 X if invested at the same
interest rate? / gt 3ifthdar T §F A 10.5% fdad ATUR =TS Y= & 1Y

4.67 AT P foU Rs. o § fAa= el g 3R 39 3@ & IR x 39T 3576 U4 &
9¢ STdT 21 3R U g &1 3 W 9% &l € ) fovaq are o & 2 Ua 99 SIRm?

e 9years / R a1 A
e 911/13 years / R 2%/2%3 91 #
e 911/21 years / R 23/ HIA H
« 11 9/11 years / 23R/%R U H
Correct Answer :-9 11/21 years / R %/32 9Td #

2)
Question Stimulus :-

Maths



If 3Y + 3Y = 2, what can be the value of y2? / 3@R 3Y + 3Y = 3 g1, @l y2 &1
HHE T gH?

e 0/0

e 1/

e 4 /%

*9/R%
Correct Answer :-0 / 0
3)
Question Stimulus :-

Maths

What is the mean proportion between 180 and 125? / %¢o 3R QYU P I BT

SUTfa® |19 T 82
e 135/ 04
e 115/ R4
* 150 / o
* 159 /3R
Correct Answer :-150 / 340
4)
Question Stimulus :-

Maths

Radhe Shyam purchases 11 apples for Rs. 100 and sells 10 apples for Rs.
110. How much profit/loss does he make over the two transactions?

/ AT 22 AT 200 FUY H WAl 8 3R 220 3UY A =rdT 334 &l a-ed # a8 fpa
ATH /BT UTeT 6T 82
e 19% Profit / {R%dTH

e 219% Loss / 2%gIH



e 1.9% Loss / 2.R%GgTH

e 219% Profit / %dIYH
Correct Answer :-21% Profit / %% T4
5)
Question Stimulus :-

Maths
What is the median of the following set of numbers: 70, 40, 100, 150, 70,
30, 50, 20, 90, 120? / 3 FufafEa F@ms &1 Ay w1 Fhm:
\90,%0,200,240,90,30,4k0,%0,%0,2%07?
e 50/ ko
e 70 / o
e 67.5 / gv.4
e 90 / R0
Correct Answer :-70 / 9o
6)
Question Stimulus :-
Maths

There are 3 children in the Khanna’s family and it is known that there is at
least 1 girl among the 3 children. What is the probability that all 3 of them

are girls? / AT UNAGR # 3 ¥ ¢ 3R S 3 Tl § TP ASP| &b SR AT STl 3|
ITHA™ T 6 & at Fi1 asfear 8 82

1/7 / /v
1/8 /%/¢
1/6 / /%
2/7 / R/

Correct Answer :-1/7 / /Y9



7)
Question Stimulus :-

Maths

If one of the factor of 2x2 - 11x + 12 is (x — 4), what is the other factor? /
3R Ix2 - VX + R PT T YUIP (x - ¥)&, dl IYDT 3 U HT gRI?

(2x + 3) / (Rx + 3)
(2x=-3) / Rx =-13)
(2x + 4) / (Rx + ¥)

(2x =-5) / Rx - 4)
Correct Answer :-(2x-3) / (Rx -3)

8)
Question Stimulus :-

Maths

Three consecutive angles of a quadrilateral are 70°, 80° and 110°
respectively. What is the measure of the fourth angle? / T& T:I'g"l;ITrr Gik]

STITHY BT 90°, (0°3HIR 220°HHT: B | TY HIUT BT HIY T TRI?
e 90° / R0°
e 110° / 20°
e 100° / 200°
e 125°/ R4°
Correct Answer :-100° / 200°

9)
Question Stimulus :-

Maths



Mansi obtained 90 in Mathematics, 76 in Chemistry, 85 in Physics, 64 in
English and 72 in Statistics. The weights given to the respective subjects
areintheratioof3:2:2:1: 2. Whatis her wel% hted average score in all

subjects? / AR IR & Ro Wﬁ\s&,ﬂ-ﬁﬁﬁ?ﬁﬁﬁ ¢y, 30 § &% SR
TifaRE & v oiw U et 3| Hafta R ¥ Rie RE U U 3:3:%:34% §|S9S
IR fawat &Y o @7 sited e

e 79 / VR
e 80/ ¢o
e 82 /(R
e 78 / V¢
Correct Answer :-80 / (o

10)
Question Stimulus :-
Maths

Everyday Ramesh walks to his office at a speed of 2 km/hr and returns at
a speed of 3 km/hr. If he takes 5 hours in his to and fro jour how far
is his office from his home? / s'uﬁvﬁm R %Fﬁ/ﬂ%ﬁw@ ﬂ?l%

Py ST 8 Y 3 fHil/9¢ 9 TR T 919 diedr 8| SR 98 Srafay eﬁ?mﬁ
& T 4 2 oa1 8 9 9P W A SUDT Sty fha-l g 8?2

12 Kms / R foht

6Kms/&ﬁﬂ=ﬁ
5Kms/t\%l=ﬁ

3 Kms / 3 fodi

Correct Answer :-6 Kms / & f&Ht

11)
Question Stimulus :-
Maths

What is the Highest Common Factor of 14xy3, 22x2y and 26x3y4? / 2¥xy3,



%2y 3R Ex3y? FT T IST WY OIS HT 82
« 2xy?2 / xy?

2x2y / Iy

3xy / 3Ixy

2xy / Ixy
Correct Answer :-2xy / Ixy
12)

Question Stimulus :-

Maths

On root of the equation 2x2 - 10x + y = 0 is 4. What is the value of y/2?
/ X2 - 20X + y = o $H GHIFRUI BT @ ¥ 2| y/] BT A T ThM2

e 4/ %

*3/3

*1/%

e 2.5 /R.4
Correct Answer :-4 / ¥
13)

Question Stimulus :-

Maths

Ankita earns 25% more than Binita. Cindy earns 10% less than Binita.
Which of the following statement is true regarding the earnings of Ankita
and Cindy in terms of percentage? / 3if$dr fafar A 4% warer A g|fHd
faitar 9 20% % FHHT 3| Sifdar ik fHdt & FuR & ufawa & Fay o S a1 HUA

el 8?2

. Ankita%earns 35% more than Cindy / siféar f&dt @ 346 warEr
HHTL



 Cindy earns 35% less than Ankita / f&d} 3ifddr ¥ 34% HH FHT

g

« Ankita earns 38.88% more than Cindy / 3if&dr fbdt | 3¢.¢¢%
SITST AT 8

« Cindy earns 10% less than Ankita / f&dl 3iferdr ¥ 10% HH HHIL

3

Correct Answer :-Ankita earns 38.88% more than Cindy / 3if&dr fbdl §
3¢.((% SATET HHT

14)
Question Stimulus :-

Maths

Which one of the following is not a natural number? / 399 & e U d IS

el 82
e 11/
e 9/%
«0/0
*6/%
Correct Answer :-0 / 0

Topic:- G3_Civil
1)

Question Stimulus :-

Civil

What is the efficiency of the machine ratio? / W=IF 3uTd S garaT &1 32
e output to the input of the machine / A2 & I | Mg P
 output of the machine / H2\H &7 IdTGH

« input to the output of the machine / ARH & 31gM I IAIGH dF



e input to the machine / H=9 & fore sieE

Correct Answer :-output to the input of the machine / 7eig & SdeT 9
STqI db

2)

Question Stimulus :-

Civil

If, the value of g is taken as +9.81 m/s? for downward motion, then what

will be the value for upward motion? / gfe e &t 3w fa %ﬁlﬁiﬁm'ﬂﬁ
+9.81 Hl/A2 AT W4T 8, A SHu} A BT A FT gRI?

e —9.81 m/s?
¢ 9.81 m/s?
¢ 9.00 m/s?
e 8.91 m/s?

Correct Answer :-— 9.81 m/s2

3)
Question Stimulus :-
Civil

If the mass is a matter contained in a body. Then how it is expressed? /

gfe fis # e uerd & 3T g &1 W Fed 8| 99 34 »Y ogad fpar oIrar 82
. Kg/ﬁﬂ}ﬂm
« Kg/m / foramm / deR
« Kg/cm / foat /7 &t
« Kg/sq / fdm / @i
Correct Answer :-Kg / f&am

4)



Question Stimulus :-
Civil

The weight of a body is a force that is attracted towards the center of .
which of the following options? / T& A&/ 3iyfd fis &1 o4 ts 9 g ol f& &g
F1 3R epftfd gl 8, a8 Aufefad fawea A @ &4 82

 earth / gt
e gravity / W&W

e mass / SHHM
« distance / gt
Correct Answer :-earth / gl
5)
Question Stimulus :-
Civil

The momentum is defined as the total motion possessed by a body.

Mathematically, how it is written? / Hﬂﬂﬁﬁﬁmﬁ@ﬁﬂﬂﬁmﬁw
nfa & w=u § gy fear war 81 nforda fafy & 39 $J ferar Smar 82

e momentum=mass * velocity / Ha7 = FHAM * AT

 momentum=distance * velocity / AT = 'g’ﬂ * QT

« momentum=distance * mass / a7 = g * THAA

e momentum=velocity * gravity / Ha = 4 * REATH YU
Correct Answer :-momentum=mass * velocity / AT = GHHE * AT

6)
Question Stimulus :-
Civil

In S.I system.of units, how the unit of force is written as? / Eﬂ?l?z'!ﬁ%
TY.3(TS UUTTelt §, 96 @1 ShTs 1 $A forar Sirar 82



e newton / gcH

e mass / SHAA &

e Kg / e

e gram/cm / IYH / Tt
Correct Answer :-newton / JcH

7)

Question Stimulus :-

Civil
The angular velocity is the rate of change of angular of a body.
/ T o & ¥ gRads 3 X ) Hofig 37 Fea o

« displacement / fa®Uq
e rotation / ‘ELUT:[

e vector / |fewr

« direction / fe=m

Correct Answer :-displacement / fa®ITaq
8)
Question Stimulus :-
Civil
forceisequalto 9.8 N. / ___ §& 9.8 e+ & SRR 3|
e 1kg / 1 fHarm
« 1kg/m / 1 fearma/dex
e 1kg/cm / 1 e /o
e 1kg/m-sq/ 1 Mum/uﬂa-aﬁ



Correct Answer :-1kg / 1 fpam

9)

Question Stimulus :-

Civil
Cement-aggregate ratio is the proportional to of the concrete. /
HHe-Hic ST P U@ Gl

o durability / ®ITR@

« workability / SragTddr

o fitness / 3I=Udl

soundness / Al

Correct Answer :-durability / ®Tfi@

10)
Question Stimulus :-
Civil

Cement ratio for durable concrete is 0.8 for? / fe®TS Hwie & fou HHe &1
3quTd fras forw 0.8 giar 82

e maximum water / 3fHdH oA
e minimum water / gdH Sd
e minimum sand / ?{EI?IH?&I
e maximum sand / 3fY&dH Id
Correct Answer :-maximum water / SMftrpdy oa

11)
Question Stimulus :-
Civil

What is the strength of timber if it is in the direction parallel to the grains?



/ THE B AfF T gl af For F FEEIR fown § R 2
e maximum / 3ftrpdd
e minimum / gAqH
e natural / 3gRIFA

 balanced / Hdqfera

Correct Answer :-maximum / 3f&&dad

12)

Question Stimulus :-

Civil

A land is said to be water-logged when the circulation is stopped

in the root zone due to the rise in table. / T®h 833 o o wifad % old
5 & Rt 3 o &7 § % W # gfg T & SR ¥ I faar

CIGIE

e air, water / &dI, =t
e water, air / tI'F-ﬁ, edl
e air, sand / BHT,Q‘d
« water, sand / U, ¥d
Correct Answer :-air, water / gdl, Ui

13)
Question Stimulus :-
Civil

The infertility of the soil in water-logged areas is caused due to .
harmful salts. / STA@IAd &1 § AFAdT BT HRUT FIABRS AGUN Dt

AT A g 2
* increasing / q@
« decreasing / &Hl




e min-max / W-Gﬁ\w
e max-min / arf\w-n:fmw
Correct Answer :-increasing / q@
14)
Question Stimulus :-
Civil

What is the lining of a canal assures distribution? / fa=or &1 YT ¢ areft
G BT wWIR T G2

« economical water / S U=t

« economical air / fewIad ga1

¢ not economical water / &G gl T8

« not economical air and water / fF®TId! U 3R gaT 81

Correct Answer :-economical water / f&wIId! UL

15)
Question Stimulus :-
Civil

A channel is said to be in scouring when: / W%ﬂﬁaﬁﬂﬁ?ﬁ%ﬁﬁwmﬁ
oid:

the critical velocity ratio is one / Hifd® a7 $T JUTd TP giaT §

the critical displacement ratio is one / $ifd® faRITIT &7 3rguTa
T BT &

the critical angular ratio is one / Hifae pIoiy S{JUTd Uh ﬁ?ﬂ %

the critical viscous ratio is one / Wifd® WMl $T JUTd T gidl 8

Correct Answer :-the critical velocity ratio is one / Hifd® a7 T U TH

gl g



16)

Question Stimulus :-

Civil
Kennedy gave a relationship between the depths of flowing water and

_ . / FS1 7 vaTfed B ¥e U Ft MRS SR & d
U day yfaurfea fear g1

« critical velocity / ifde o
 displacement / AU

« distance / gt

e angular distance / aﬁvﬂﬂgﬂ

Correct Answer :-critical velocity / Hifd® o

17)

Question Stimulus :-

Civil

In Lane’s weighted creep theory, he proposed a weight of for .
vertical creep and for horizontal creep. / @9 & YIRd frador Rrgid
#, 98 SHeafeR faadur & fow ¥ goH 3R &faw faador & ferg G
goi T UfauTeH $al 2|

e three, one / 99, T&%
e two, one / a’f, Th
e three, two / ?ﬂT-l, 33[
e two, three / a’f, Gik|
Correct Answer :-three, one / ?ﬁT-I, Udh

18)

Question Stimulus :-



Civil

In what direction the flow of water should be, in order to decrease the

neutral stress? / U &1 Udrg f&d fezm # g1 =nfee, aife SeRia a91a &4 8 we?
« downward on the soil mass / figl & &Y W - & fozn &
« upward on the soil mass / il & & W SR @t fe=m &

. 1t?rpp to bottom on the soil mass / figl & &¥ W W ¥ A ot fa=m

. %ottom to top on the soil mass / gt & &3 W i A S &1 fazm

Correct Answer :-downward on the soil mass / ﬁ-l?f & X W A ot fe=m A

19)
Question Stimulus :-
Civil

What kind of capacity is found to be greater in dense sand? / U+ ¥d | o9
UPR P! AT BT e T IrdT St 82

 bearing capacity / YRUT B B &HdT

« pouring capacity / IAsH @ &HdT

« absorb capacity / 3[@RIYUT B3 Bt &HdT

« resistance capacity / UfaRIY & B &HdT
Correct Answer :-bearing capacity / YRUl I DI AT

20)
Question Stimulus :-
Civil

In India, the first preference is given to roads for what purposes? / HRd fr‘,

IS B! ygal urdfiiedr fe= Sexal & forw &t o<t 82
 transportation / URRag+



o safety aids / &I Herddl

e signal / &1 deradl

 pedestrian signal / e ai3dl & dAdhd
Correct Answer :-transportation / uiagH

21)
Question Stimulus :-
Civil

What is the road within a city or town is called as? / T& g 9T AR & Hid®
P TSP B T Hgl STdl 82

e urban road / Y& ASH
e town road / & B ISP
« country road / 3gTd &I GS®
e rural road / 0T G5&
Correct Answer :-urban road / BIEE JSh

22)
Question Stimulus :-
Civil

Footpaths are higher than the road surface. What is the range of their

height? / BeUly S &1 Gde A ST 3IdT 3| SAP! SaATS I JHHT T giell 82
e 15cm to 20cm / 15 9 ¥ 20 It
« 15cm to 25cm / 15 |t ¥ 25 A+
¢ 20cm to 25cm / 20 It & 25 I

e 15cm to 30cm / 15 9#H I 30 I

Correct Answer :-15cm to 20cm / 15 It ¥ 20 IH



23)
Question Stimulus :-
Civil

What are particularly provided in the case of urban roads? / BIFE ﬂ?ﬁﬁ &
Ava # fORiv 7 J S Iud! ST ST 82

o footpaths / BcUIY
« express way / 98T AN (THIUY )
« carriage way / URagd arf (FRe Q)
» highway / Tem (§1%d)
Correct Answer :-footpaths / BeUTd

24)

Question Stimulus :-

Civil
The longest road was constructed during the time of (Note:
from Lahore to Delhi). / 999 &dl S &7 fAHAT0T P AR & SR

PIT TT YT (U ¢: AER A el a9) |
Sher Shah Suri / 3R E T
Deepak Suri / §U® 3
Santosh Suri / '\‘I?ﬁ'q@

Suresh Suri / I A

Correct Answer :-Sher Shah Suri / IR M8 TGt

25)
Question Stimulus :-

Civil



Which type of road was constructed during 1540 to 1545 A.D.? / I+ 1540
¥ 1545 W & SR fod Gs& &1 fmior far wm 32

e grand trunk / 3s &
 road trunk / IS® TP
e city trunk / TG TH
e town trunk / HWI P
Correct Answer :-grand trunk / 48 €&

26)
Question Stimulus :-
Civil

Name of the department which was formed to look after the work of road
construction during the period of Load Dalhousie. / T SgISl & AR &
SR Ts& faivr & s 3@+ & forw o faumT &1 e+ fvar mar 41, 39@T 919 Famng?

« Public works / @& fmfor faumt

* private works / st fAmtor favmr

« state works / IS fAHTor faumT

« central works / $gg faafor fqumr
Correct Answer :-Public works / @& faior faumr

27)
Question Stimulus :-
Civil

Which among the following organizations was set up in 1930? / frifea o
¥ frd W6 Bt RITYAT I9 1930 Xt # 31 715 A2

e central road organization / Cgap) qsb IT6A

« state road organization / I<9 IS& IS



e town road organization / $XT ISP IS
« urban road organization / &3l YS® TS
Correct Answer :-central road organization / $&IT I8 T

28)
Question Stimulus :-
Civil

Name the pump that is different from others in the same group? / 39 UJ &1
A9 I N St GYE & o vl | fuT g2

 plunger pump / fAUS® U0 (W=} 1)
e hydraulic pump / SddIerd 4T (SSSITAD UT)
e viscous pump / Ml U
 jet pump / Sic UY
Correct Answer :-plunger pump / FUS® U (W=R U7)

29)

Question Stimulus :-

Civil

A is a device used to lift quantity of water to a
greater height when a large quantity of water is available at a smaller
height. / U IUDIUN ¢ foraeT IuanT gfyHror # ur=it

aﬁagamwwﬁ%ﬁw%mm% W9 $H TS W 954 HfYe gfiarer & gt
farerum Tgar 31

e hydraulic ram, small / Wﬂ%ﬁﬁ'ﬁ, 3y

« centrifugal pump, small / $EUIRS UU, 3T
« jet pump, large / Sic Uy, f=ma

» screw pump, small / &p UU, 3T

Correct Answer :-hydraulic ram, small / mﬁﬁh, A



30)
Question Stimulus :-
Civil
What is the name of.the pump that is used for lifting water to the boilers
and turbines? / 3 UU &1 - qaT forehT SUURT afe ($uUf) 3R ETarg a®
Ut @I uga & fore faran iran 81

« Jet pump / S UU

e hydraulic pump / SddIferd 4T (STSSITAd UT)

e screw pump / ¥p U4
 plunger pump / FHSI® U7 (W=R 1)
Correct Answer :-Jet pump / 9€ UY
31)
Question Stimulus :-
Civil

One of the following types of pump is used for lifting water from deep

wells. / fHifrd & & fFg Uu &1 TN Te¥ ¢ A urt AT & fore far siran 21
« centrifugal pump / $EUIRS U
e hydraulic pump / SddIferd 4T (STSSITAd UT)
e screw pump / ¥p U4
 jet pump / Sic U4
Correct Answer :-centrifugal pump / $XUHIRS UG

32)
Question Stimulus :-
Civil

Which type of pump is used for high viscous fluid pumping? / PO UPR &



UY 1 SUART 3 WAl ardt avd ygrd 3t fAerem & ferg fan smar 82
« centrifugal pump / FEUIARS U4
e hydraulic pump / S9dIferd 4T (gSSITAd UT)
e screw pump / ¥p UU
 jet pump / Sic U4
Correct Answer :-screw pump / T@"ﬁ'ﬂ

33)
Question Stimulus :-
Civil
Which one of the following belongs to the category of energy transfer
machines? / Prafoa 3 8 1.9 ol TRV 2 AT el A Ao @ e
e centrifugal pump / FEUIARS U
e hydraulic coupling / Sadifad UU (FISSIA® UW)
» screw coupling / Tp UU
« jet coupling / Sic Uy
Correct Answer :-hydraulic coupling / &adifed U4 (?Eﬁi%ﬁ? uq)

34)
Question Stimulus :-
Civil

Which type of meter is used to measure hydraulic jump? / 59 ypR & Hiex
®T IUUNT 541 FY (TSP oiq) B A9 & e fvar wmar 82

e critical depth meter / av‘lﬁﬁiTlﬂTli ez
e depth of channel meter / FTd Hiex B TIETI%



« depth of flow meter / YdTg HIcX FI TETS
« velocity meter / Q7 Hiex

Correct Answer :-critical depth meter / Hifd® TIETI'Q ez
35)

Question Stimulus :-

Civil

In which of the following, the specific energy is the total energy measured
with respect to the datum passing through the bottom of the channel. /

fFrafafad # 3 fFad, 39 & A J ToR W) MR & Id§y d ardt 78 Ik S« 8 o
St gidt 2

« open channel / @d T #

« closed channel / §¢ 39d A

e mix-match channel / faf¥a-fems @9 &

e open and closed channel / Hdl 3R d¢ A9 §

Correct Answer :-open channel / g?r o |

36)
Question Stimulus :-
Civil
The discharge corresponding to critical depth is maximum in which of the
following channels? / ﬁ'lilﬁl'f%?l ol # A fFaH 819 Hgayul TS F Ta
fepay 82

e an open channel / W@aﬂ?{ﬁ

e a closed channel / U% §¢ o-d &

« a half-open channel / T&F 3&-d o9d A

« a half-closed channel / T& 3ig-d¢ a-d &

Correct Answer :-an open channel / T® gﬁ o9 A



37)
Question Stimulus :-
Civil

The breadth is 2 times the depth in case of the channel of rectangular
section, then, under this condition how will be the discharge through the

h 1? / 99 agYeT®R U a1 Ad § dieTs Tex1s &1 2 AT 3T 8, 99 39
%?W%ﬂﬁ%mmﬁmﬁm?

e minimum / YAdH

e maximum / 3fftredd

e max-min / aﬁﬁm—w

e min-max / qaan—arfﬁm
Correct Answer :-maximum / 3fU&aH

38)
Question Stimulus :-
Civil

In most of the economical rectangular seqtion of a channel, depth is kept
half to which one of the following? / 3ifU®i= fFwrad! TgUeT®R SFUTT ard
ad |, TS B fHTdT e 3@ Sar 82

e hydraulic radius / 414 (g5siTa®) B
¢ hydraulic volume / a9 (gTSgITerd) TTaH
 hydraulic weight / dig (EEQTVI%H?) CREG]
 hydraulic mean / 414 (G'IEQTvﬁﬁ) I

Correct Answer :-hydraulic radius / &9 (gTssifa®) Bear

39)

Question Stimulus :-



Civi

The discharge from the water pipe line is at a high. velocity when the
nozzle is placed at which part of the pipe line? / & Bt qrsyq dig- & fbg HTT
W @ I U & ISy a5 ° U918 954 S i i @ g 82

 the beginning of the pipe line / mﬁﬁﬁﬂ?‘{]}?ﬁ
« the mid of the pipe line / UISU @184 & a9 #
« end of the pipe line / UTSY @189 & 3id |

e the beginning and end of the pipe line / UTE‘ETFITET-I%!{RFﬁ' 3R
3q |

Correct Answer :-end of the pipe line / UIgU digd & 3dH

40)
Question Stimulus :-
Civil

A siphon is used in connecting two reservoirs at different levels intervened

by which of the following? / T® JTSH el HT S¥dHTA fafHa TRl (Sarsal) W)
Ry 3 srarzral 3 s & forg fear wrar 8, Pord f5ad gRT saaur Iy fear siran

g2

low ridge / AT AS

high ridge / &1 AS

extremely low ridge / 3 Arar ﬁ?s’
extremely high ridge / 3@fU® AT AS

Correct Answer :-high ridge / vﬁTﬁ's’

41)
Question Stimulus :-
Civil

If the pipes are connected in series, how much is the total head loss to the

sum of the head loss in each pipe. / af¢ UTsU §aar & aiford €, 9 T SRIUTT



#1 g1 § ¥ yd® Ursy § RIURT &1 fhaft g gt @2
e equal / RIRX
« not equal / R ol
e 2 times / 2 -l
e 4 times / 4 -l
Correct Answer :-equal / SRTRY

42)
Question Stimulus :-
Civil

What should be the condition in the pipe as compared to the vapour
pressure of a liquid, for the siphon to work satisfactorily? / 9Igp- TN &

HAIYeH® &7 § B $1 & Y, T ava uerd & arg gard &t go-m § ursy # fRufa
&t gt aTiRe?

e minimum pressure / YAdH qdld

e maximum power / 3frepan wfea

e minimum velocity / REI?I’HQ"T

e maximum pressure / 3ftrpdH gag
Correct Answer :-minimum pressure / <g-IdH qdld

43)
Question Stimulus :-
Civil

How is an equivalent pipe treated for all calculations? / A gt eret A
Th JHJT UISU DI SUYRT fobar ST 82

e ordinary pipe / IdTYRUI UIgU
o extra ordinary pipe / STYRUI UYIgU



e hydraulic pipe / EE@W (sdt) ursy
e compound pipe / Hg UIzY
Correct Answer :-ordinary pipe / TR QIgU
44)
Question Stimulus :-
Civil
How much is the length of an equivalent pipe in comparison to a
%gmpound pipe? / U TYH UISY $! ga-T & TP GHIed UIST PI a8 fopa- gal
* not equal / HHH
e equal / 9HH
e minimum / gAdH
e maximum / Sfftrpdd

Correct Answer :-equal / HHIH

45)
Question Stimulus :-
Civil

What is the velocity of flow at all points in the cross-section of a channel?

/ TF A9d & UR TURT § it fagsi wR ware &1 a7 fawm grme
e not same / 3HHA
e same / HHMH
e minimum / <gAdH
e maximum / 3ferepaq
Correct Answer :-not same / 39HIH

46)



Question Stimulus :-
Civil

What is the ratio of area of flow and wetted perimeter is termed as? / Udlg

& &1 &1 U iR Ryga (A9) uRfY &t a1 wran 82
 hydraulic radius / 419 fF=ar
 hydraulic diameter / 419 AT
e hydraulic circular diameter / 419 gxiia gffer
 hydraulic velocity / a9 7fa

Correct Answer :-hydraulic radius / drg B

47)

Question Stimulus :-

Civil

In a sharp-crested weir, how much is the thickness of the weir, taking into
account the height of the water above the crest of the weir. / T®h

ﬁ%ﬁ%ﬁgaﬁmmﬁaﬁ m%%ﬁm%wuﬁaﬂmﬁmﬁﬁw
« more than half / 3¢ ¥ s
« twice than half / 319 & AT
e thrice than half / 319 & favAT
¢ less than half / 3189 q &1
Correct Answer :-less than half / 319 § &0
48)
Question Stimulus :-
Civil

From the following where are Bifurcated stairs commonly used? / dH

v ¥ fAgfafad A et fawrfoma difeal &1 Suai fear srar 82



at the entrance of public buildings / TTdui-e Haql & Yax gR W

as an emergency stair at the back of the building / Had & W&
THh SMUTdRTA digt & =g o

in small residential buildings / B¢ AR Ha=l H
none of these / 3990 ¥ &I gl

Correct Answer :-at the entrance of public buildings / ITdSIfae Y-l & Jagr
gR IX

49)
Question Stimulus :-
Civil

A truss is called a composite truss when AL A | DI TH 90U o del
WargeeE |

e it has two slopes on each side / 3‘&% TS 3R & ed gidl %

e it is a combination of king and queen post-trusses / g XISl 3R
I & 91G T BT Th JAo §

e it is made of two different materials / 9% ﬂ 3T 3T AT &
ERERECI

« it has both valleys and hips / $9H "ifedr iR FeeT ol &

Correct Answer :-it is made of two different materials / 9% EBI AT 3T
Il @ e s 8

50)
Question Stimulus :-
Civil

What does Sludge from a Biological treatment unit contain? / U® sifa®w
SUAR 3@1s I fea are Fras o T WiAa Ha1 82

« harmful inorganic sediments / gIfFR{ed SINPR® ABEP JAIG



« rich in organic matter and bacteria / 4% Ugrd 3k sfarusi 9
THS

e rich in inorganic matter and micro organisms / PP ugrd
3R geH ol d 99

e rich in bigger inert solids / fa=ma Gmwiﬁﬁm

Correct Answer :-rich in organic matter and bacteria / PTaH gard MR
Siare | 99

51)
Question Stimulus :-
Civil

Why is BOD test not well suited to industrial wastes? / deNSt wdteor =St
WE ¥ e sav & g srgga &l 18 giar 82

e it is a slow process / g Us i ufspar @

« toxic chemicals produce wrong results / Sg3d I™A] Tad
Uy 91 4 8

. %he waste lacks in nutrients / 3URIY Uyl # Nu®H dal A HHI el

o Oxidation is incomplete / 3TRIHRUT 3ALRT IgdT &

Correct Answer :-toxic chemicals produce wrong results / wgdd Tl Ted
g Uer #ed 8

52)

Question Stimulus :-

Civil

What is the principle cause of a Creep? / T® fawdur &1 H8T HRUT AT a2

« wave motion of rails due to moving trains / Iadl MSAT & HFRUT
I DI a7 A

« rigid holding of track / & &1 $3R UHS



e motions in either direction as on a single track / Wﬁéﬂ?tﬁ
o<t v f=m & wifa

« longer lengths of rails / ¥d &1 3ift® dag

Correct Answer :-wave motion of rails due to moving trains / Il MiAl &

HRUT I Pt a7 A

53)

Question Stimulus :-

Civil

In doors and windows, style is: / Xarel 3R fv@%‘%ﬂ‘f fr', Qeft %:

the vertical member of the frame / ThH BT SHaieR qJod

the vertical member of the shutter / USI BT SeafeR o™

the member which divides the frame into two vertical portions

/ 98 9 S Y & HwfeR YR § gicar 8
None of these / S99 ¥ &g gl

Correct Answer :-the vertical member of the shutter / TSI BT SteR g

54)
Question Stimulus :-
Civil

Why is light excluded in BOD incubator? / UHIRI 31 disnSt Wﬁm&lﬁ
w1 =g fpar mar g2

 to encourage anaerobic conditions / @4 fRIfGYl Wieafed 4
& forg

« to prevent growth of algae / Q49T & fAPHT & AP & forw
* to control aerobes / argeiidl &t FRifAd &1 & ferw
 to encourage growth of fungi / $aF & fAHTT B MATET B4 S



fere

Correct Answer :-to encourage growth of fungi / ®d® & fawrg 31 uﬁ?\qﬂ%?r
Y & g

55)
Question Stimulus :-
Civil

How much is the effective diameter of a particle for the Stoke’s law to be

applicable? / WI® &1 90 ar] 81 & T & &1 wUdt =™ fba= g =nfge?
e less than 0.0002 mm / 0.0002 firdft & &9
e less than 0.002 mm / 0.002 fird} & &9
e more than 0.02 mm / 0.02 ot 3 arftres
e 0.2 mm / 0.2 it

Correct Answer :-less than 0.0002 mm / 0.0002 foreft 9 o9

56)

Question Stimulus :-

Civil

In ordinary residential buildings, at what level the D.P.C. may be
provided? / |IYRUT TARIA tm#ﬁ%awwzcﬁ.ﬂ.aﬁ. ﬁﬁﬁwémﬁnm

g2

« between ground level and water table level / SHIHI TR 3R
SR & o

e at ground level / S WR R
e at plinth level / T3l &R W

 at water table level / ST TR

Correct Answer :-at plinth level / ﬁﬁ'\”ﬂ



57)
Question Stimulus :-
Civil

What is a relatively fixed point of known elevation above datum called? /

YR F HUR 1 HuTg W UeTHd U [ fig & «ar we1 wrar 82
datum point / 3MYR fdg

bench mark / 9 A%

reduced level / YcT §3IT &X

reference level / g4 TR

Correct Answer :-reduced level / YUcT §3T &R
58)

Question Stimulus :-

Civil

How is the field irrigation requirement computed? / ad | ﬁﬁﬂ'ﬁ CARCIGRUG |
1 AT HA DI AT B2

 Net irrigation requirement + conveyance losses / Y& ﬁﬁnﬁaﬁ

ATaRgHdl + AUYT g
« Consumptive use + field application losses / fAAT=RIGRT IUTRT +

Wd & SUENT W g

« Consumptive use + conveyance losses / faATRI®RI IUANT +
HUYOT HTeT

 Net irrigation requirement + field application losses / Y&

Riarg ot srawadar + Wd § SWART WR g1

Correct Answer :-Net irrigation requirement + field application losses / Y&

Riarg o smazaddr + Wa # AT R g1

59)



Question Stimulus :-
Civil

To consider the construction work as minor work, what is the upper limit
of the cost of a construction work if the lower limit is Rs. 20,000? /

®1d B AT P & FU § AR v w), fadt fafato o 3 o S s g afe
foraeht =T Rs. 20,000 22

e Rs. 80,0000/-
e Rs. 90,000/-
e Rs. 1,00,000/-
e Rs. 70,000/-
Correct Answer :-Rs. 1,00,000/-

60)
Question Stimulus :-
Civil

Which one of the following options is termed as water hammer in a pipe

flow? / UTSy U4rg # g fAeeul & A f5A ur-l g1 H1 wI1aT 82

e The sudden rise of pressure in a_Iong pipe due to §udden .
closure of valve / 3[F® dIed & §¢ B4 & HRUI UH &d gy §
AT a1d & 344 g

e The fall of pressure i!1 a pipe flow due to constant closure of
valve / dlcd & AR §¢ Y84 & PRI Uh UISY YdIe H ga1d B HHI

e The rise of negative pressure / THRIHA® ¢ard H gfs
« None of the above / SWRIad § I &I 6l

Correct Answer :-The sudden ris_e of pressure in a long pipe due to sudden
closure of valve / 3@AF® dled & §q g1 & PRUI TH @d UEY H AP ¢a[d &
Sd g

61)

Question Stimulus :-



Civil

The construction of residential buﬂdlng is categorized in which of the

following categories? / il &1 ursf garg frd) 1 g-1s A HA Haftra g2
« light construction / Y& TUIfd®, THR
« heavy construction / faudia smquifa®, TR
e medium construction / W& ¥4 ¥ ATUIA®, THR

e average construction / Y&l &I'IHCIT%, ATAdIPRR
Correct Answer :-light construction / Y& GHT;[mﬁH?, TPR
62)

Question Stimulus :-
Civil

The increase in coefficient of passive earth pressure is accompanied by

increase in which of the following? / fAfspa q%ﬁ aﬁﬁa?'{[wﬁ q@ & 1Y
fraifea & & fres of g &2

« angle of shearing resistance / U UfaY & HIoT H

 angle of corrosion / &RUI & HIUT H

e torque / CiCg

e power / d9d
Correct Answer :-angle of shearing resistance / U=UU[ ufoRiYy & ST |
63)
Question Stimulus :-
Civil
Ultimate shear stress is used to identify which of the following quality of
%7\_,%?;7Wm &1 IuanT FAHifea 7 A ) & 59 U Ft vga= &

e cohesion / Id%%H



e density / Ydd
e relative density / GITa'fErG?EF-ITq'
e strength / dd

Correct Answer :-strength / dd

64)

Question Stimulus :-

Civil

The angle of shearing resistance for _ is same as that of angle of
friction. / & fT Sra=qur yfaRie &1 Hior

YUl & HIV & GUH &l gl 2l

e dry loose sand, internal / G& didt 3d, 3fidik®
e wet sand, external / Tﬁﬁ’fﬁ, CIEE
« dry and wet sand, middle / J@T 3fX it ¥4, A0
« only sand, external / %dd ¥d, 91831
Correct Answer :-dry loose sand, internal / ﬁ&ﬁ ﬁ?ﬁh, IGIRED

65)
Question Stimulus :-
Civil
A saturation line shows the dry density as a function of what content for
soil containing no air voids? / T Jqia Y@ fa=T ga1 & Ridaat ara frdt & fere
5 uerd & e o1l & ©u § g v &I feamar 82

e a) water / &) UIE|

e b) oil / @) dd@

e C)air / ) =gdl

« d) both a and b / ¥) & 3R @ g\



Correct Answer :-a) water / &) UIE]
66)
Question Stimulus :-
Civil
For a clay layer which one of the following is directly proportional to
permeab%i?ty? / wﬁ@aﬁm%ﬁusﬂﬁﬁaﬁﬂww&rwmm
e time factor / GHY HRP
e weight factor / 9ol PRSP
e volume factor / HAT PR
 pressure factor / qdid dRP

Correct Answer :-time factor / 94 ®RP

67)

Question Stimulus :-

Civil

The reinforcement in the is placed below the
reinforcement in the ./

GEeIHIul Bl H geSIprur & - @M ST gl

« short span, long span / 3Idl It 3r@fd, ddt rafdr
 long span, short span / @dl 3@ftl, S It 3rafd
« short span, short span / Bidt ¥l 3@ftl, Bt A af
« long span, long span / @dt 3f@f¥, ddt srafe
Correct Answer :-short span, long span / Sidt At eafty, ddt sr@afdr

68)

Question Stimulus :-



Civil

In which of the foI_Iowing type alternate bar:s are curtailed at 1/7™ of the
span? / ?ﬁr@aﬁmw%wmﬁm% 1/7d fe 9@ Bl
forar wimar 82

« simply support slab / 9H ARG Wa
« continuous slab / FRaR W9

e circular slab / Iivux wWq

« flat slab / Wic &4

Correct Answer :-simply support slab / I afda We

69)
Question Stimulus :-
Civil

If the sides of a slab simply supported on its edges and spanning in two
ways , then the bending moment is
by 0.50. / 9f¢ T Td & YST3f & baa IRl W TR &
m%sﬁvsﬂwa’rwm Gl §% =cd ®! 0.50 |

|

« are equal, maximum, multiplied / SIT&R &, 3w, 7o fHar Tan
e are not equal, minimum, added / RTIR qﬁ%, g-dH, \‘rﬁ?ﬂ ™1
« are equal, maximum, divided / SRTR g, 3RrHaw, fyurfora farar

« are not equal, minimum, multiplied / SRTSR 78l 8, <gAdH, oM
foar mar

Correct Answer :-are equal, maximum, multiplied / RTIX %', Giﬁﬁ)_cl'q, ot
foram

70)
Question Stimulus :-

Civil



A panel of a is the area enclosed between the centre
lines connecting adjacent columns in and the outline of
the column heads. / T Cal ﬁw dg E] ﬁ?lT % |

ARTH BIAH Bl SIS ardl B @13l 3R WY & R & @
& ot Rt A 21

« flat slab, two directions / 9UIe a4, af famai &

« flat slab, four directions / Ul id, IR fazman &
« continuous slab, two directions / fFRdR w9, I fe=mai &
« circular slab, three directions / gaig g, o9 fazmaii &

Correct Answer :-flat slab, two directions / 9UIc ﬁﬁ, a’r ﬁ'?ﬂx’rﬁ s |

71)
Question Stimulus :-
Civil

If L is the average length of a panel, then the total thickness of a flat slab
of interior panels without drops, should not be less than L/_? / gfe Th CE |
F1 T @913 UA 3, 99 Th qUIE WY & AiaR® i 31 o Aers for R gg, va/_
¥ Y g1 gt A1ieu?

e 36
e 32
e 45
e 34
Correct Answer :-36

72)

Question Stimulus :-

Civil

The total of flat slab, in no case, should. be

125mm. / 9UE Wd 3 pal fopaft ot fRufa &, 125 FreRt
81 il =i




volume, not less than / 3Td+, d &H T8I

height , less than / &1, d $H

length, more than / 4TS, § 3%

thickness , less than / HIeTS, ¥ &H

Correct Answer :-thickness , less than / 'Fﬁz'lé, g 9

73)

Question Stimulus :-

Civil

The system of arranging the reinforcement, the
reinforcement is provided in column strips and ./ ﬁi’iﬁw
P YIRT FI WISl ®, Peelp vl WY ufeal ik H
we far Srar 3

« two-way, diagonal strips / a?R'lFI Wﬂ?ﬁ, ﬁlﬂv‘ﬂfﬂ'@?ﬁ

e one-way, rectangular strips / ThdRWI, El’g"{-ITrIWIT U@ﬁf
« two-way, circular strips / SIdI®%I YUITe, Tcﬂ'q W@Tﬁ'

« one-way, diagonal strips / T&awl, fawul ufgar
Correct Answer :-two-way, diagonal strips / Eﬂ?RTFT II'UTI?ﬁ, ﬁwtﬂ?ﬁ
74)
Question Stimulus :-
Civil

Drop is which type of the slab around the column and how much is its
thickness than the rest of the slab? / WY & AR} 3R R (IT0) fFF UeR &1
AT BT € 3R SHS! HIeTs Tt WA @t a1 # fHa-t siftre gt 32

e flat slab, greater / 9UIC ﬁa, 3fftrs

e circular slab, greater / Q?ﬂ'qﬁﬁ, 3fftr®



« continuous slab, greater / fARdR W4, ST

o flat slab, smaller / W'\‘ﬁ'ﬁ, BleT

Correct Answer :-flat slab, greater / dUlc ﬁﬁ, 3fftrs

75)
Question Stimulus :-
Civil

When the line of rivets does not lie in the direction of stress, the
in a riveted joint should not exceed
whichever is less. (Where t = thickness of the thinner outside plate). / gfe

PId® @1 d91d o1 fazn A fRq 781 gar g, a9
CIGIASIE) J 3iftre =8 g1 T, o W A @l (SEf & = Taa

9T W $I qleTs 2) |
e maximum pitch, 32t or 300mm / 3if¥r&aH e, 32¢1 a1 300 THEH

e minimum pitch, 32t or 300mm / gdH <cld, 32d1 a1 300 UHUH
e maximum pitch, 30t or 200mm / 3iff&aH erd, 3081 a1 200 THTH

e maximum pitch, 30t or 300mm / 3if&&HdH &rd, 30¢1 a1 300 THTH

Correct Answer :-maximum pitch, 32t or 300mm / 3iff&d¥ ard, 32 a1 300
THTH

76)
Question Stimulus :-
Civil

Which of the following parameters due to changes in atmospheric
conditions do not produce stresses in flexible pavements? / aqu@.?ﬂu

uRfRifaal & ufvada & srur fAyifea d @ F9-91 aFds axiid $eurd § a9 I
! Pd1 872

e temperature / dIUHIA

e pressure / qdld

e tension / dHdId



« capacity / 4rf¥dr
Correct Answer :-temperature / dIqHIH
77)
Question Stimulus :-
Civil

In the design of rigid pavements the flexural strength of concrete
represents what type of factor? / FOR pcury & %Trl'l?f—l H $wic
BT AR Miad fFd $R$ 1 UfafiRa Fdl 82

e major / YW

e minor / MUl

e below major / m@nﬂ%

e above minor / Tl ¥ 3iftre
Correct Answer :-major / Y9

78)

Question Stimulus :-

Civil

In conducting the detailed survey for a strip covering on either side of the
chosen center line, what should be the width in case of straight stretches

and in case of sharp curves? / gﬁgqhaﬂ%@aﬁa?aﬁwwuﬁﬁw
XA & fore fawga ademr w3 A, e T ok i dis ot Rufa § dis1s Fam g
qrfge?

. 15m;30m/15'lﬂ2'\’;30'lﬂ?\r
e 15m ; 40m / 15 Hie3; 40 Hiex
. 10m;40m/1011112?;4012\12'\r
e« 15m ; 60m / 15 Hiex; 60 Wex

Correct Answer :-15m ; 30m / 15 #Hie3; 30 Hiex



79)
Question Stimulus :-
Civil

At the end of the reconnaissance phase, the selected alignment is pegged
by using poles of what height on which the distance between the two pegs

is marked? / 3ITAI&UT TRUT & 3id H, T GG BT AN fha Hiex S 8 31
SUART HXP AT SATdT 8 o R g Fe & g ot gt 3t fafea far sirar g2

2m high / 2 e &=

2m low / 2 Hiex 1

3m high / 3 #lex 3

4m high / 4 fieR 33

Correct Answer :-2m high / 2 e 3

80)
Question Stimulus :-
Civil

Assume that we have information on an old process plant that has the
capacity to produce 10 gallons/day of a particular chemical. The cost
today to build the plant would be Rs.1, 000. The appropriate cost factor for
this type of plant is 0.5. An order-of-magnitude estimate of the cost is
required for a plant with a capacity of 30 gallons/ day. / HIH #ifore & gHAR
TN U R ufshar G 9§ Gafta ga=m 8 et emar 10 Aa/fe9 te faviv yoR &
AT BT IATGT B3 P 8| Tad 99g § T "7 & fuior &t @ Rs.1, 000 ghft
3 PR & 96T & foe IRE @ R® 0.5 81 10 a1/} Iwure &iar ard IuT &
fmtor & e arvTa & ufkaror wife $t ToET HE

1732.05

1777.05

1776.50

1777.8



Correct Answer :-1732.05

81)
Question Stimulus :-
Civil

Assume that a historical plant with the same process cost Rs. 2 million,
with the equipment portion of the plant costing Rs. 1 million. Determine
the cost of a new plant if the equipment has been determined to cost Rs. 2

million. / A9 Tifore f IwH ufshar arel efagiRie U= 91 @nrd Rs. 2 fafera= g, 91y
gl TG & IUPUI 9Tl U $I H1Ad Rs. 1 FAfraT g1 A0 G897 & ARG $I 0T BN g
IPIUI Bt ARG Rs. 2 fafeas fAafia & 78 g1

e 4

e 5

e 6

o 7
Correct Answer :-4
82)
Question Stimulus :-
Civil

Assume that the current cost for a 1.2-pupil school constructed of wood
frame for a city is Rs. 180. We are asked to develop an order-of-magnitude

estimate for a 9-pupil school. / 9 difore fk 1.2 - wﬁaﬁrm%aﬁmﬁ
femera & frfor 3t @Ta Rs. 180 §1 36 9-8T A ey & e ufkwmor Hife #
TMUET HA & oI HgT T

1350

1345
1355

1352

Correct Answer :-1350



83)

Question Stimulus :-

Civil

The Young's modulus of concrete Ec is:- / &®Ic S HT T AMUIP §:-

e 5700 f

. 5700‘]a

. 1000 fg

e 1000 Ja

Correct Answer :-5700

84)
Question Stimulus :-
Civil
The polar moment of inertia of a hollow shaft of outer diameter (D=4) and
inner diameter (d=2)is______ ./ I8 A (Tﬁ =4) 3R st s (Eﬁ = 2)
aTd TP Wad W Pl eI ST YIa Rved __ 2|

e 1.57

e 1.76

e 1.67

e 1.79
Correct Answer :-1.57
85)

Question Stimulus :-

Civil



The polar moment of inertia of a solid circular shaft of diameter (D=4) is:

/ ¥ (81 = 4) 91d 3N JATPR JMUE Bl Tsdl BT YA [=d

e 25.13

e 24.13

e 23.13

e 22.13
Correct Answer :-25.13
86)
Question Stimulus :-
Civil

The polar modulus for a solid shaft of diameter (D=6) is: / I (31 = 6) G
3 XM D TSl BT YA AUID of

e 42.411
e 41.411
e 40.411
e 43.411

Correct Answer :-42.411
87)

Question Stimulus :-
Civil

When a shaft of diameter (D) is subjected to a twisting moment (T=4) and
bending moment (M=2), then equivalent bending moment (Me) is: / SId &%
MY HT AN () o+ a1d T & (1=4) 3R &1 = (TH=2) & (T 381 3,
a9 g 99+ e (TH3) faar ghm:

e 3.23
e 4.23



e 5,23
e 6.23
Correct Answer :-3.23
88)
Question Stimulus :-
Civil
When a shaft of diameter D is subjected to a twisting moment (T=6) and a
bending moment (M 4), then the equivalent twisting moment (Te) is: /

o9 TS XU $T AN 81 o+ a1d T & (S1=6) 3R 95 = (TH=4) & 3f=T
Tgdl 8, 99 JUg HS+ a1eT = (315) fopa=n ghm:

e 7.211
e 6.211
e 8.211
e 9.211

Correct Answer :-7.211

89)
Question Stimulus :-
Civil
When a shaft of diameter (D=4) is subjected to a twisting moment (T=6)
and a bending moment (M=4), then the maximum shear stress is / oid Udh
MU T AN (S1=4) S 914 T*d & (¢1=6) 3R 95 T (TH=4) & 3(hT Tgar
8, 79 Sif¥rway sruwyur yfaaa fea=m ghm:

e 9,181

e 8.91

e 10.181

e 11.181

Correct Answer :-9.181



90)
Question Stimulus :-
Civil
The total annual cost of highway transportation, if B= Rs. 40000, C = 200,
N = 100 / ISR R uRagd &t $d a1 arTd &1 11, af¢ = Rs. 40000,
Hd=200, T9=100

e 2

e 3

e 4

e 5
Correct Answer :-2
91)
Question Stimulus :-
Civil
If L = 4 is the length of wheel base of vehicle and R= 4 is the mean radius
of a curve, then the amount of extra width (b) to be provided on roads is

/ afe TP ared & UfT & YR $t A918 Ta=4 g 3R GBI ahal &1 {341 4

8, 79 9@ W aiad dIsTg (d) dTuRwmorgrm |

e 12

e 13

e 14

e 15

Correct Answer :-12

92)

Question Stimulus :

Civil



The shift (S) of transition curve is -, if I.ength of the transition
curve (L= 4) and radius of.the curve(R=2). / T a5 &1 R (T9)
-, Ofe AHHUT T $I da1S (TA=4) 3R 9% ! =T (3R=2) g1

e 0.3333

e 0.4444

e 0.55555

 0.66666
Correct Answer :-0.3333
93)
Question Stimulus :-
Civil
The expression for the length of a transition curve (L) in meters is
if rate of change of radial acceleration (C= 4); radius of circular
curve in meters (R = 3); and speed of the vehicle (V= 20). / W‘UTW &
g (TA) P SifHaafer g afe Yeua (srgariiy) @rur (M=4) & uRadq
o1 &x; Hiex # quIHR T ot BT (3MR=3); 3R arg= 1 7fa (&t =20) 21

e 13.889

e 14.889
e 15.889
e 16.889
Correct Answer :-13.889

94)

Question Stimulus :-

Civil
To obtain a gradual increase of curvature from a value of at
the tangent to a at the circular curve. / W W) HIH

TATPR dF W Ihdl U HIUD gl U B & |
e zero, maximum / ¥, 3ffUead




e one, minimum / T&®, YAdH

e zero, minimum / [, FAdH
e one, maximum / U&, 3ffteHaH

Correct Answer :-zero, maximum / [, 3fUdad

95)
Question Stimulus :-
Civil

The State Highways should have wide carriage —way with
wide shoulder on each side. / I5T IYHATT TR e uRag ant &
Y AP 3R ST g g A1l

« 8m; 2m / 8 Hiey; 2 Hiex
e 10m;4m/ 101ﬂ2"\’;41ﬂ’<.’“\’
e 8m; 4m / 8'@2?;4'@2?
e 8m; 6m / 8 HIcY; 6 IR
Correct Answer :-8m; 2m / 8 IﬂE?; 2 Hiex
96)
Question Stimulus :-
Civil

In a simply supported slab, the pitch of distribution reinforcement should
five times the effective depth of slab or 60cm whichever

is . / U 9 U 9 Afdd e 7, faavor &1 U W9 31
mné’rng'\rréﬁuia%[un 191 91T 91 60 |
|

i
e not be more than , smaller / ¥ 3f¥& T8I g1 AT, BT
 not be less than, larger / ¥ ®H gl 89T TIleT, I8T
« not be more than, larger / ¥ 3fi® 81 g9 91T, §1




 note be less than, smaller / ¥ $H 8! gIHT 1T, BicT
Correct Answer :-not be more than , smaller / J 3iftre qﬁﬁTﬂ i!T%E, BT

97)
Question Stimulus :-
Civil

According to Indian Roads Congress, the of a road vehicle is
2.25m. / HRA & HUY & R, TH G U qIgd &t
2.25%1eR 3|

e maximum width / 3ifYHdH ANSTS

e maximum length and minimum width / ftrpan darg Gﬁ?w

ST

e minimum width and maximum length / Wiﬁ@? 3R Siftrman
T

e minimum length and maximum width / Wm GﬁTiﬁSF.-‘f
Sffermayq

Correct Answer :-maximum width / 3if¥®dq NS

98)
Question Stimulus :-
Civil

The board was established in 1960. / ds
P RITYAT 1960 H P! TS|

Border Road Development / I I8& fde™T e+

Central Road Development / 3% 8% A& e+

State Road Development / Id 9&& fA®TT TIra

Defence Road Development / &1 4SP Ao dTeH



Correct Answer :-Border Road Development / ST 98& fa®rg 16

99)
Question Stimulus :-
Civil

The maximum rate of super-elevation (e) is , iIf speed of vehicle
is V= 80km/hr.; radius of curvature (R= 4m). / 3fU-ITUT () &} 3AfUBdH R
o 2, afe are= 3 vl fi= 80 ¥/ Her 2.; 3R Twar $ BT (3R = 4

) B

e 0.088

e 0.0445
e 0.7777
e 0.333

Correct Answer :-0.088

100)
Question Stimulus :-
Civil

How is the lateral pressure of earth related to the depth of the soil? / t{‘&ﬂ

&1 ¢ gaTa gt it e A F§ Halta 2
« directly proportional, square / U&& TUIfd®, TNHR
« inversely proportional, square / faudia smquIfd®, TeR
« indirectly proportional, square / WRI& U ¥ MUIAP, TNDR
e directly proportional, rectangular / Y&l \’fﬂﬂtﬂm, STIATD R

Correct Answer :-directly proportional, square / Y&l GI'I'-;[QTW, TMHR



